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1 Setup Information

Tested Device:

« ATP N600Sc 118GB SSD
Used command line:

« Jusr/local/bin/tkperf ssd ATP-N600Sc /dev/nvmeOnl -rt 30 -nj 2 -iod 16 -rfb -i nvme -dsc
ATP-N600Sc-118GB.txt

Performance System:

» TKperf Version: 2.2

* Fio Version: fio-3.1

« Date of test run: 2019-04-08

* Number of jobs: 2

* Number of outstanding IOs (iodepth): 16
Operating System:

« Kernel Version: 4.15.0-47-generic

* Description: Ubuntu 18.04.2 LTS

2 General Information

» workloads: The percentage of read operations in the random mixed workload. In the plots the term
"100/00" means 100% read and 0% write, "95/5" 95% read and 5% write, and so on.

* block sizes: The block size of Fio to be used for IO operations.
» measurement window: Those rounds, where the dependence variable became stable.

» dependence variable: A specific type of test variable to determine the steady state.

2.1 Steady State

The Steady State is to determine if a test has reached a steady performance level. Each test has a
different dependence variable to check if the state has already been reached. To check for the steady
state the performance values of a test measurement window are taken (the last 5 rounds). The steady
state is reached if:

» The maximum data excursion is less than 20% of the average in the measurement window.

* The slope of the linear best fit line is less than 10% of the average in the measurement window

If these two conditions are met the steady state has been reach for the specific dependence variable.
Therefore the test can be stopped and the performance values of the measurement window can be taken
for the measurement plots. If the steady state has not been reached after a maximum number of rounds
the test can be stopped as well. The numbers for these two variables are:

* Measurement Window: 4

* Max. number of rounds: 25

3 IOPS

The IOPS test consists of looping over the following parameters:
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Make Secure Erase
Wor kl oad 1 nd. Preconditioning
Wil e not Steady State
For workl oads [100, 95, 65, 50, 35, 5, 0]
For bl ock sizes ['1024k', '128k', '64k', '32k', '16k', '8k', '4k',
Each combination of workload and block size is carried out for 60 seconds using direct 10. The average
number of read and write IOPS is measured and summed up, therefore 56 values are the result of the two

loops. After these loops are finished one test round has been carried out. To detect the steady state the
IOPS of 4k random write are taken.

» Dependent Variable: 4k block size, random write

3.1 Steady State Information

Steady State has been reached:

* True
Steady State has been reached in rounds :

« deque([1, 2, 3, 4, 5])
Values in stdy measurement window:

» deque([16944, 19985, 20573, 20474, 18205])
Average in stdy measurement window:

* 19236

3.2 Measurement Plots

IOPS Steady State Convergence Plot
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The Steady State Convergence Plot shows the reached IOPS for all block sizes of
random writes over all rounds.
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IOPS Steady State Verification Plot
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The Steady State Verification Plot shows the measured IOPS of 4k random writes, the
20% average window and the slope of the linear best fit line in the measurement
window.

IOPS Measurement Plot
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The Measurement Plot shows the average of IOPS in the measurement window. For
every workload the IOPS of all block sizes are plotted.
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IOPS 3D Measurement Plot

The Measurement 3D Plot shows the average of IOPS in the measurement window.

For every workload the IOPS of all block sizes are plotted.

3.3 Measurement Window Summary Table

Average IOPS vs. Block Size and R/W Mix %

Block Size wid. -

! 100/0 95/5 65/35 50/50 35/65 5/95 0/100
512 46152.6 27874.0 21725.6 20136.4 17791.6 14495.8 15360.0
4k 55362.2 40235.2 25459.8 18878.8 16956.4 14306.8 19236.2
8k 29681.4 19952.8 12114.4 8983.6 7754.4 6944.0 7910.0
16k 17151.0 11733.0 6301.2 4249.4 3831.6 3085.8 3922.0
32k 10206.0 6858.0 2841.6 2283.0 1848.6 1416.8 1752.8
64k 6002.4 3952.2 1366.4 1070.8 853.0 632.8 807.4
128k 3387.8 2130.0 572.8 489.6 389.0 266.4 302.2
1024k 452.0 340.0 94.2 85.6 60.8 47.2 52.4

4 Throughput

The throughput test consists of looping over the following parameters:

For bl ock sizes ['1024k', '64k', '8k', '4k', '512']
Make Secure Erase
Wil e not Steady State
Sequenti al read
Sequential wite
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For each block size sequential read and write is carried out for 60 seconds using direct 10. The number of
kilobytes for read and write is measured, therefore 2 values are the result of one round. To detect the
steady state the throughput of 1024k sequential write is taken.

» Dependent Variable: 1024k block size, sequential write
4.1 Steady State Information
Steady State has been reached:

e True
Steady State has been reached in rounds :

« deque([0, 1, 2, 3, 4])
Values in stdy measurement window:

 deque([577482, 553416, 553971, 555156, 572099])
Average in stdy measurement window:

* 562424

4.2 Measurement Plots

TP R/W Steady State Convergence Plot
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The Read/Write Steady State Convergence Plot shows the bandwidth for all block sizes
of seq. reads over all rounds. On the top the write throughput is plotted, below the
throughput for read.
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The Steady State Verification Plot shows the bandwidth of 1024k seq. writes, the 20%
average window and the slope of the linear best fit line in the measurement window.
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The Measurement Plot shows the average bandwidth of reads and writes in the
measurement window. For all block sizes the seq. read and write bandwidth is plotted.

4.3 Measurement Window Summary Table

Average MB/s vs. Block Size and R/W

Block Size | Read Write
1024k 1406.557 549.243
64k 1679.674 547.61
8k 1225.663 544.804
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4k 692.07 545.432
512 123.987 21.149

5 Latency

The latency test consists of looping over the following parameters:

Make Secure Erase
Wor kl oad I nd. Preconditioning
Wil e not Steady State
For workl oads [100, 65, O]
For bl ock sizes ['8k', '4k', '512']

For all block sizes random read, a 65/35 read/write mixed workload and random write is carried out for 60
seconds using direct 10. For every combination the Min, Max and Mean Latency is measured. After these
loops are finished one test round has been carried out. To detect the steady state the mean latency of 4k
random write is taken.

» Dependent Variable: 4k block size, random write mean latency

5.1 Steady State Information

Steady State has been reached:

e True
Steady State has been reached in rounds :

« deque([3, 4, 5, 6, 7])
Values in stdy measurement window:

 deque([40.096325, 35.424761, 32.893141, 35.279585, 39.750545])
Average in stdy measurement window:

* 36.6888714

5.2 Measurement Plots
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LAT Steady State Convergence Plot
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The Steady State Convergence Plot shows the mean latency for all block sizes of
random read, mixed workload and write.

LAT Steady State Verification Plot
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The Steady State Verification Plot shows the mean latency of 4k random writes, the
20% average window and the slope of the linear best fit line in the measurement
window.
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LAT 3D Measurement Plot

The Latency Measurement 3D Plot shows the average latency on top and the max
latency below it. For the measurement window every workload including all block sizes
is plotted.

5.3 Measurement Window Summary Table

Average Latency (ms) vs. Block Size and R/W Mix %

Block Size | wid. - 0/100 65/35 100/0
8k 0.077 0.119 0.113
4k 0.037 0.084 0.09
512 0.053 0.093 0.102

Max Latency (ms) vs. Block Size and R/W Mix %

Block Size | wid. - 0/100 65/35 100/0
8k 263.902 283.029 0.759
4k 264.767 279.879 0.623
512 436.087 279.266 0.645

6 Write Saturation

The write saturation test consists of looping over the following parameters:

Make Secure Erase
Wiile not witten 4x User Capacity or 24h
Carry out randomwite, 4k block size for 1 ninute.
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For 4k block size random write is carried out for 60 seconds using direct 10. For each round (60 second
window) the write IOPS and latencies are measured. Also the total written 10 is measured to check if 4x
capacity has been written.

As no steady state detection is necessary there is no dependence variable.
6.1 Measurement Plots

Write Saturation Test
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The Write Saturation IOPS Plot shows the average IOPS of 4k random writes over all
rounds.

Write Saturation Test
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The Write Saturation Latency Plot shows the mean latency of 4k random writes over all
rounds.
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